
Section 3.1 

1a)  {(−2,1) (−2,3) (0, −3) (1,4) (3,1)} 1b) Domain:  {−2, 0, 1, 3}  

1c) Range:  {−3, 1, 3, 4} 1d) y is not a function of x 

2a)  { (1, 𝑎) (2, 𝑑) (3, 𝑏) (3, 𝑐) } 2b)  Domain  {1, 2, 3} 

2c)  Range:  {𝑎, 𝑏, 𝑐, 𝑑}  2d) y is not a function of x 

3a)  {(1, 𝐷)(2, 𝐵) (3, 𝐶) (4, 𝐴)} 3b)  Domain:  {1, 2, 3, 4} 
3c)  Range:  {𝐴, 𝐵, 𝐶, 𝐷}  3d) y is a function of x 

4a)  {(−1, 2) (0, 2) (1, −3) (2, −2) (8, 3)} 4b)  Domain:  {−1, 0, 1, 2, 8} 

4c)  Range: {−3, −2, 2, 3}  4d)  y is a function of x 

5a)  Domain: {−2, 0, 1, 3, 5, 6}  Range:  {−4, 0, 1, 5} 5b)  y is a function of x 

6a)  Domain:  {−5, 2, 4, 7}    Range:  { {1, 3, 4, 6} 6b)  y is  function of x 

7a) Domain:  {−5, 0,4 }      Range:  {1, 2, 3, 6} 7b)  y is not a function of x 

8a)  Domain:  {−5, 0, 1, 3}    Range:  {−3, 2, 4, 6} 8b)  y is not a function of x 

 

9)  Find the following:  𝑓 = {(3, −2),
(5, 6),   (7,3), (1, −2), (4,1), (6,7)}  

a) The domain of f  {1, 3, 4, 5, 6, 7} 
b)  The range of the f  {−2, 1, 3, 6, 7} 
c)  f(3) = −2 
d)  f(1) = −2 
e)  all values of x such that f(x) = -2         𝑥 =
1, 3 
f)  all values of x such that f(x) = 6    𝑥 = 5 

 

10)  Find the following:  𝑓 = {(1, −3),
(2, −3),   (−4,2), (5, −2), (−3,5), (6,7)} 

a) The domain of f     {-4, -3, 1, 2, 5, 6} 
b)  The range of the f  {−3, −2, 2, 5, 7} 
c)  f(2)  = −3 
d)  f(5)  = −2 
e)  all values of x such that f(x) = -3     𝑥 = 1,2 
f)  all values of x such that f(x) = 2      𝑥 =  −4 

 

 

11)  Find the following:  𝑔 =
{(9,2) (1,9) (4,1) (2,4) (6,1)} 

a) The domain of g   {1, 2, 4, 6, 9} 
b)  The range of the g   {1, 2  4, 9} 
c)  g(9)  = 2 
d)  g(4)  = 1 
e)  all values of x such that g(x) = 9    𝑥 = 1 
f)  all values of x such that g(x) = 1      𝑥 = 4, 6 

 

12)  Find the following:  𝑔 =
{(5, −3) (−3,2) (2, −3) (1,2) (6,1)} 

a) The domain of g  {−3, 1, 2, 5, 6} 
b)  The range of the g   {−3, 1, 2} 
c)  g(1)  =  2 
d)  g(-3)  =  2 
e)  all values of x such that g(x) = -3     𝑥 =
5, 2 
f)  all values of x such that g(x) = 1   𝑥 = 6 

 



 

13)  Given the graph of f(x), find the 
following: 

a) The domain of f    {−1, 1, 2, 4, 5} 
b)  The range of the f  {−3, 1, 2} 
c)  f(2)  = −3 
d)  f(1)  =  2 
e)  all values of x such that f(x) = 2    𝑥 =
−1, 1 
f)  all values of x such that f(x) = -3    𝑥 = 2, 5 

 

14)  Given the graph of f(x), find the 
following: 

a) The domain of f    {−2, 1, 3, 4, 7} 
b)  The range of the f  {−3, 1, 3, 7} 
c)  f(1)  = −3 
d)  f(3)  =  7 
e)  all values of x such that f(x) = 3     𝑥 =
−2, 4 
f)  all values of x such that f(x) = 1    𝑥 = 7 

 

 

15)  Given the graph of g(x), find the 
following: 

a) The domain of g    {−5, −3, 1, 2, 4} 
b)  The range of the g  {−5, −3, 2, 4} 
c)  g(2)  = −5 
d)  g(4)  = −3 
e)  all values of x such that g(x) = 4   𝑥 =  −5 
f)  all values of x such that g(x) = -5     𝑥 = 2 

 

16)  Given the graph of g(x), find the 
following: 

a) The domain of g  {−3, 0, 1, 2, 5} 
b)  The range of the g  { −3, 0, 2, 3} 
c)  g(-3)  = 2 
d)  g(0)  = 3 
e)  all values of x such that g(x) = 0    𝑥 = 2, 5 
f)  all values of x such that g(x) = 2   𝑥 =  −3 

 

 

17)  Given the graph of g(x), find the 
following: 

a)  g(3)= 6 
b)  g(-3) = 0 
c)  all values of x such that g(x) = 3  𝑥 = 0, 6 
d)  all values of x such that g(x) = 0   𝑥 = −3 

 

18)  Given the graph of g(x), find the 
following: 

a)  g(0)  = −4 
b)  g(-4)    4 
c)  all values of x such that g(x) = -4     𝑥 = 0 
d)  all values of x such that g(x) = 0    𝑥 =
 −2, 2 

 

 



19)   Given the graph of h(x), find the 
following: 

a)  h(-1) = −5 
b)  h(2) = 4 
c)  all values of x such that h(x) = -5  𝑥 =
 −1, 5   
d)  all values of x such that h(x) = 0  𝑥 = 0, 4 

 

20)  Given the graph of h(x), find the 
following: 

a)  h(0)  = 0 
b)  h(4)  = 0 
c)  all values of x such that h(x) = -4   𝑥 = 2 
d)  all values of x such that h(x) = 0   𝑥 = 0, 4 

 

 

 


